## DISTRIBUTION OF SYMMETRIC STABLE LAWS OF INDEX 2<sup>-n</sup>

## By Shashanka S. Mitra

## Pennsylvania State University

Let  $X_1, X_2 \cdots, X_n (n \ge 2)$  be independent standard normal. Then the random variable  $U = X_1/V_n$  where

$$V_n = \exp_2[2^{n-2} - 1] X_2(X_3)^2 \cdots (X_n^2)^{2^{n-3}}$$

$$= X_2 \text{ for } n = 2$$

has a symmetric stable distribution with index  $2^{2-n}$ .

1. Introduction and results. The characteristic function of a symmetric stable law is given by

(1) 
$$f(t) = \exp[-c |t|^{\alpha}] \qquad 0 < \alpha \le 2, \quad c > 0.$$

The distributions corresponding to the characteristic functions given by (1) are known only in the cases of normal and Cauchy distributions. In the present paper we consider (1) with c = 1 and  $\alpha = 2^{-n} (n \ge 0)$ . Our result is contained in the following:

THEOREM 1. Let  $X_1, X_2, \dots, X_n$  be independent standard normal for  $n \ge 2$ . Then the random variable

$$(2) U = X_1/V_n$$

where

(3) 
$$V_n = X_2 \text{ for } n = 2$$

$$= \exp_2[2^{n-2} - 1] X_2(X_3^2) (X_4^2)^2 \cdots (X_n^2)^{2^{n-3}} \text{ for } n \ge 3$$

has a symmetric stable distribution with index  $2^{2-n}$ , where  $\exp_2 b$  represents  $2^b$ .

2. Proof of Theorem 1. The proof of Theorem 1 depends upon the following:

LEMMA 1. The value of the integral

(4) 
$$(2\pi)^{-1/2} \int_{-\infty}^{\infty} \exp[-t^2/(2x^2) - x^2/2] \ dx = e^{-|t|}.$$

PROOF. The proof follows from the simple observation that the left side of (4) is the characteristic function of the ratio of two independent and identically distributed standard normal variables and hence must be the characteristic function of the symmetric Cauchy distribution. A direct proof can be easily given.

We now turn to prove Theorem 1 by mathematical induction. For n=2,  $U=X_1/X_2$  has a Cauchy distribution which is a symmetric stable law of index 1. Assume next that  $U/V_k$  has a symmetric distribution with index  $2^{2-k}$  and consider

Received May 7, 1979; revised February 5, 1980. AMS 1970 subject classification. 60E07. Key words and phrases. Symmetric stable laws.

$$(5) Z = X_1/V_{k+1}.$$

Since  $\exp_2[2^{(k+1)-2}-1] = \exp_2[2^{k-2}-1]\exp_2[2^{k-2}]$ , we can write (5) in the form

(6) 
$$Z = X_1 / [V_k (2X_{k+1}^2)^{2^{(k+1)-3}}].$$

Next, since  $X_1/V_k$  has symmetric distribution with index  $2^{2-k}$ , we obtain

(7) 
$$Ee^{itZ} = (2\pi)^{-1/2} \int_{-\infty}^{\infty} \exp[-x_{k+1/2}^2 - |t/(2x_{k+1}^2)^{2^{k-2}}|2^{2^{-k}}] dx_{k+1}$$

$$= (2\pi)^{-1/2} \int_{-\infty}^{\infty} \exp[-(x_{k+1})^2/2 - |t|^{2^{2-k}}/[2(x_{k+1})^2] dx_{k+1}.$$

From (4), the above integral is

$$\exp[-|t|^{2^{2^{-(k+1)}}}].$$

Thus the proof is complete by induction.

DuBois Campus Pennsylvania State University College Place DuBois, Pennsylvania 15801